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Pokój nr 1 

1. 

ଷ

ଶ௫ିଷ
= 2𝑥 − 5                    x = 1 lub x = 3 

 

2. 

௫ିଶ

௫ିଷ
= 1 +

ଶ

௫ିଶ
                    x = 4 

 

3.  

௫ାଵ

௫ିଷ
+

௫ିଶ

௫ାଵ
=

௫మା௫ାଵଶ

௫మିଶ௫ିଷ
                   x=5 

 

 

 

 

Pokój nr 2 

 

1. 

ଷ

ଷ௫ିଵ
= 3𝑥 + 1                    x = -2/3 lub x = 2/3 

 

2. 

3 +
ଶ

௫ାଵ
=

ଶ௫ାଶ

௫
                    x = -2 lub x=1 

 

3.  

ଷ௫ିଵ

ଷ௫ାଵ
=

ଵଶ

ଽ௫మିଵ
+

ଷ௫ାଵ

ଷ௫ିଵ
                   x=-1 
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Pokój nr 3 

 

1. 

ଵଶ

ହ௫ିଶ
= 2𝑥 − 6                    x = 0 lub x = 3,4 

 

2. 

௫ାଶ

௫ିଵ
=

௫ିଵ

௫ାଵ
+ 2                    x = -0,5 lub x=3 

 

3.  

௫ାହ

௫మିଵ
+

ଶ

௫ାଵ
=

ଶ௫ିଵ

௫మିଶ௫ାଵ
                   x=2 

 

 

Pokój nr 4 

 

1. 

ଶହ

ଷ௫ିଵ
= 3𝑥 − 1                    x = -4/3 lub x = 2 

 

2. 

଻

௫ାଵ
+

ଷ

௫
=

଺

௫ିଶ
                    x = -1/4 lub x=6 

 

3.  

ଷ

௫ାଷ
+

ଶ

௫ିଷ
=

଻

௫మିଽ
                   x=2 

 

 

 

 

 



Autor: Ewelina Szajdziuk 

 

Pokój nr 5 

 

1. 

௫ିଵ

௫ାହ
=

௫ିଷ

௫ିଵ
                     x = 4 

 

2. 

ଶ௫

௫ାଵ
+

௫ିସ

௫ିଵ
= 1                    x = -1/2 lub x=3 

 

3.  

௫ାସ

௫ାଶ
=

௫ାଵ

௫ିଶ
+

௫మି௫ିଵଵ

௫మିସ
                x=-1 lub x=1 

 

 

Pokój nr 6 

 

1. 

௫ାଷ

௫ାହ
=

௫ିଵ

௫ିଷ
                     x = - 1  

 

2. 

ଶ௫ିସ

௫ାଶ
+

ଷ௫ିଵ

௫ାଷ
= 1                    x = -2,5 lub x=2 

 

3.  

௫ିଶ

௫
+

ଵ

௫ିସ
=

ସ

௫మିସ௫
                   x=1 

 

 

 

HASŁO do zaszyfrowanej niespodzianki to: 6 ∙ 5 ∙ 4 ∙ 3 ∙ 2 ∙ 1=720 


